Y3 - Autumn - Block 1 - Step 10 - Counting in 50s Answers

Question Answer

Filip has 100 cards.
Eva has 150 cards.
Mo has 200 cards.

1 Aisha has 350 cards.

Teddy has 400 cards.
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False, three lots of 50 grams are the same as 150 g.
5 250 g is heavier than 150g

a) Whitney has scored 350 points.
b) Four darts on the 100 points, one dart on the 50 points.
6 c) Dexter is incorrect. He could score 450 points if he had 3 darts on 100 points and 3
darts on 50 points. This is because 300 + 150 = 450

There is 550 pence altogether.
7 There is £5 and 50 pence altogether.




